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IV Semester B.Com. Examination , May /June - 2olg
COMMERCE

4.4 Cost Accounting
(Repeaters) (2O13-14 & Onwards)

Time : 3 Hours Max. Marks : 1OO

Insttttctions i Ansuter should. be written completelg either in Kannadaor Engli.sh.

Aq)ad-a/SECTION-A
o};adlcroddo add.2 wd-{{rl€ri wQ0x. {3 erud-{{rr addr erodrJsc. Lo;x?=Zo
Answer any ten sub-questions. Bach sub-question carries 2 marks.

Define Costing.
(b) dzd t0earoJ-l ejduodd addo erudedrldd; zldozuD.?^) t e o-- .t --

Write two objectives of cost accounting.
(c) ABC .fge-.dd ;oCdeC; ?

What is ABC analysis ?
(d) {df; xad;}delodded; ? erucrodO,l

What are direct materia-ls ? Give examples.
(e) ao$rrdd erddrd aodded; ?

What is labour turnover ?
(! dre'raod Jd;o$ aoddedc ? addo o-odearl{d; r$eB.

What is idle time ? Mention two reasons.
(g) ero8d ;cDfd dz,Jd etfrrddc t0eB.

Give the meaning ofsemi-variable cost.
(h) dceo; drj;Og ;mraror0p.,

Define overheads.
(i) d,nooaedd de3 aodded: ?

What is Reconciliation Statement ?

(j) eruooodd dzd ooCded,: ?
What is Notional Cost ?

(k) oJ,:o$ rJoe3 dd "toddedr ?

What rs meant by Machine Hour Rate ?
(1) deorod-r d{dgdg d"ro$ edud;euod ol:afloadd,n o-oe4 elodrldd; zudog;D.

Write any four itcms which appear only in financiai accounts.

P.T.O.
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e?+rdrl-E/SECTION-B
oJ:rod;ooddn oaeg -ll{ri':rt wQOtu. {,e d{d ;ob.r erodrld;. 4x8=32

Answer any four questions. trach question carries 8 marks.

2. dd d{ oa{ dcQ deoo-oJ: el{aa{d ddr.)d eratfrldQ dro-oriri€ri uodeo;mriod evodddd:

udot;0.
State the causes for the difference in profit as per cost accounts and financial

accounts.

3. ddrl d;ae3d;d d:o&SoErod daj d:dc mqJd deSoiod; dolrdD$'-- ---?:J-- ?J e.i "t
dzg radrlrldd; erudolnefltudg { 40,000

{dr$ d",ae < 2s,000

o$o$ doJ doBd erdQ 5OO0 rioe3rjdc

oJoo$ rloed dd < 2'gA rioe3rl

dCeO d;ee;r dzJrid-t

d;roootJd doeoc dz"^i deJc

erusoDtud #tJdrl.JJ
CJ

d:ocro 0.J dcaB d -qr €,3d risi.t

From the foliowing particulars prepare a statement of cost ald profit.
Raw materials consumed { 40,000
Direct Wages < 25,000
Machine hours worked 5000 hrs
Machine hour rate { 2 Per hour
Office overheads 2oo/o on u'ork cost
Selling overheads { 2 Per unit sold
Units produced 10,000 units
Units sold 9000 units at { 15 per unit

4. * dddod do&3os:od o$o$d rloe3 ddddr dod:&EosoD :

dca&8 (
^a.^--?- dz3 1,14,800ulJUgG u
doed# drj 5'4oo

o$o$d deso-odQ 10 ddrrldr
ddq ddrrleJ dodd ofq$d zdvad:oadl zJeJ (scrap value) 5,0oo

.to&rd zroBrl d;dq dd 12,000

^r'^Ji ao&rd Sdr dz3 3,000WJU9G 
ar

DdeD d;dq 0drdd (aaard) g,o+o

cdrr{{ 5 o$.o08,:6 {,S rioe3rl d-rdq {,3 o1:;4,$es6ri 40 d.jJ'

z"od; ddrdQ -99 Ad B rlob3ridod oj:o$d;300 Adiridc aooJ:rt0dr&fuQd.

t-r&rord dfid dceeJ de 20 dQ
{ 2 doacros.l dcaEd qe CEJd{
10,000 -+Pe.ldrl$c

9000 d,'b.jdri$c -g8o3nod{ t 15 dod
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Compute machine hour rate {rom the following data.

Pou.er cost is 5 units per u,orking hour @' 40 paise per unit.
There are 300 working dar,-s of eight hours each in a year.

5. z"g dnonadd z.od; D.-cd ri€d osoz^uddg ds 2 dd8ri€od dodc&BoerD.

(i) ded aooJoarqo0s -,?O ddg (ii) droordd oaoJorp-oOd ojoez;d

1,14,800

5,400

5,000
12,000
3,000
8,640

4B

{375
< 1.50

120 &er6ridc

150 &er6rJ$c

20 tCtudrldc

the earnings for the week of a worker

Differential piece rate system

4B

< 3,75
< 1.50

120 pieces

150 pieces

20 minutes

rate when output is below standard

GS-452

Cost of machine

Instailation charges

Anticipated life ol machine 1O years

Residual value at the end of 10 years
Rent and Rates per annum
Insuralce of machine per aflnum
Repairs and maintenaxce p.a.

;mdd€ de;i d;=:; rtodrig-t

d.,.o0 z"od; rioe.id

uooJcorqroDd dnd cC

z"odJ ;mdd JD;J.-. erJgadd
6 ?J c.)

z"od; ilddd t0r sr)Eodd
d.J

qg &€turl rod;ad, xd;o.l,r

dro-arJd o-ooJ:o rqo Dd dd
E€d) de 80, a{8od dc; e€d 6e \2o

From the following particulars workout
under :

(i) Straight piece rate system (ii)

No. of working hours per week

Wages per hours
Rate per piece

Normal output per week
Actual output for the rveek

Normal time pcr niece

Differential piece rate : B0% of piece
and l2Oo/o rvhen above standard.

erus-oddoJo A-"g{oU a.e efrd (qroao"nod dBd;

P.T.O.
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6. ddhddrrl$d: dod':&Gos;0.
ol

(i) dJdo" erdedd dre.J

(ii) d,Cd d:E;o e.J

(iii) d:do6 eededd dDdoaea

(iv) JuoJO idd.; d.lEJ

dt0{ zo$d

radoad, zodd

rlD-.g us;d

d;do'udedd eldQ
rl0{ dcg
Calculate :

(i) Reorder level
(ii) Minirnum level
(iii) Reorder quantity and
(i") Average stock level

25 units peruveek
50 units per w-eek
75 units per week
4 - 6 weeks
650 units

$?+ran'- R, / SECTION-C
ol>d.ro-oddo dc,nd; d{rt*rt eruQOtu. {g d{d dDoado esodrt*.
Answer any three questions. trach question carries 16 marks
7. z"od; roaoE-dri iozroQtudod 2ot8 ddr{ dddod .)ddrlerr d"odgd.

,t
60,000
50,000
30,000
33,600
22,400
14,000

42,OOO

: ;todd 25 oJ:n&e,;€ddr
d

: ;rddd 50 oln&0,s6rJd-)
6

. a-odd 75 ofin&b,t'rld:
d

4 Dod 6 ;;odrid.t
650 o$,,0&gs6riqjo

lllliiiilll I lilll lillllllllill

3x16=48

4

Minimum usage
Normal usage
Maximum usage
Reorder period
Maximum level

r-odclrl$ dz3

{dr$ d",ao

I

2018d doao-ooJd zJejoj; dreeJ ud.ld $DqJd ddd DeB 2019dd o3.rod Ce;ri jddd:
dcadenrLrQd adgd;ddj dr dsdod sddrlgod doCJ&BosJO.

roarordojo d;ee;; dz3

ud€d d.reo; daJ
e3

doooud dceoc dzd

Sdddoir dcee;.: dzJ

e)Dqj

z"od; de,tdd udedd iouoQtud dz.jrl$c d$fldoBd.
radclrldc
d,.oOrid.:

< 8,O00

< 5,000
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m&rordoJJ d;eo; dzJc dddQ de. zo ddu "rDdo.joofldr, cddodojo fteor d?dd dddo
de 10 dq s*ror3ne: *!uq *-*# Jrug *;;g;r;;r;;;;;.:;; -d;
dzss;rDhc.- * u i'

u
roanrdo:: dteeu Czi ddd {dr$ d",o0oJ: doeeJ erdeloz3ddDhd.
o-oarorCo:: JzJd ileej elde-roz3nd.uIn respecr of a factory the following figures
2018.

{
Cost of materia-ls 60,000
Direct \\:ages 50,000
Factorv or.erheads 30,000
Administration overheads 33,600
Selling overheads 22,4OO
Drstribution overheads 14,000
Profit 42,OOO

have been obtained for the year

A u-ork order has been executed and the following expenses have been
rncurred.
Materials : { 8,000
\\'age s < 5,000
Assuming that in the year 2019, the rate of factory overheads has increased
br' 20%. Distribution overheads have gone down by 1O% and selling andadministration overheads have each gone up by rs%. At what price stould
the product be sold so as to earn thelame rate-of prolit on the selling price
as in 2018.
Factory overheads are based on direct wages while all other overheads based
on factory cost .

8. ds dddod $ddri$: z"odc erDo'ddN-a dbdddt z"odo aoddel iddcrJdd; dddd-l d,rdt
x.:ote.-?. 

d -- - -- -n ''--"' "'"{ o ----5
vw0(wd(^r./ o
;c.}ef 2018
l. udoal d.le_r

o
do-or0Prd-lo

2 dddd-ro
3. doa&,c.,d.)

6

500 0^jN'6ri$.t {3 F^JOd zJeJ T 10 dod
300 e-io6rldc

600 EJN'6rJSc { 10.20 dod
25O 03o{neJJ (oarqo; dD8e0,$oan uooo hJN€

6-EsrdRdJd)dc dod;u oDd. )
100 E 

jo6rl$c (&od qde Jddd; { 9.15dod
daoa,0imndg) ot

400 €^io6ri$c

220 FJN'6rid: t i0.30 dod
380 eJo6rJd-l

eido60od ;o-odjcG.J

:=_,:.. lodd; d.,ode.r.r d;oorsjcd (FIFO) d.rdq dodoJcQ uodd-r dodoc dao,0tud
LIFCr =e8olod Cgeo6 a:adojcdg do$aOtu.

qdd d;ee-r-r dzdrlg.ru

4.

5.

6.

7.

dddd.ro
dao&$d-:

.)
dddcr'-r

O

d;mritudco

P.T.O.
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The following is the record of receipts and issues of a certain material in the

factory during a week :

Aprii 2018
1. Opening balance 500 tonnes @ ( 10 per Tonne

lssued 300 tonnes
2. Received 600 tonnes @ { lO'2O. per Tonne

3. Issued 250 tonnes 1Stock verifiiation reveals ioss of 1 tonne)

4. Received back fiom
orders 10O tonnes (previously issued at { 9'15 per tonne)

5. Issued 400 tonnes
6. Received 22A tonnes @ { 10'30 per tonne

7. Issued 380 tonnes
From the above prepare the stores Ledger under FIFO and LIPO method'

9. ABC do. eJ dq d:ndl vuqdoo-o'aelaJrld: d.:dq odd:;3e;ua'aeroajri€d z'co; 'lrDd

etdQri d#dod uodrjqfu odred'

z.rdBrl d;dq ddrid; 10'000

Dedridc I '2AO

dd"'oeg; d-'aelrjs: 3'ooo

sd*?dq 3,ooo

Jdd., 10,000

JdSd d:ee)d $d: 5'000

ddoegi md-rfd$c 4'000

iqdd dzJrJd: 10,000

d: d.JRd Jca&8 d",od e-rzrJrsd

oddrid; e/usBdN-r eenajdeb Jeoo eelrddeJ;

ABCXY

{S c;qd (zS.elB) 2,000 2,5OO 3'000 2'000 500

Oedrldc (ioaJrrldQ) 10 1s 20 10 s

o$o$rld "gdq 
t2o 60 1o0 20

o,::o!a dd-(<j 24,ooo 32,000 40'000 2'000 2'000

4urg s,nolf 6,000 4,ooo 6'000 3'ooo 1'ooo

Joffi dpr, (<) 4,ooo 3,ooo 2'ooo 600 4oo

{dr{ rad.lry,i'J, 5,000 6,000 4'000 3'000 2'000

ie# eenajore dfiriddg dr dqjdodod doz;d doadenfld.
ABCXY

jeo-o eeroaj X 2O"h 3Aoh 4joh - ljoh

ie;ro eeroai Y 4ooh 2OO/o 30% ljok

I lililll llilll 1il lllil lllil illl llll

a-9ds.;d .icQ addde dcee;cdtJrld eddma ;tiot;dg tuqdBtu'
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ffi.*Tf,1'ratlo.',has. three production deparrments and two serviceavailable. --re ioriowing figures for , ..r,ri, period has been made

Rent and rates

Lighting

Indirect Wages

Power

Depreciation

Insurance of Stock

Indirect material

Sundry charges

Floor Area(sqft)

Light points (Nos)

HP of machine

Direct Wages (T)

Stock value (fl

Direct Materials

Sepvice Department

Service Department

Prepare primary and

The following information is also available
Particulars Production

A

2,OOO

10

Service Departments

{
10,000

7,20a

3,000

3,000

10,000

5,000

4,000

I0,000

120 60

3,000

20

100

40,000

6,000

2,OOO

4,000

be charged

CX
40%

30% 10%

2,500

15

Departments

BC x

2,OOO

10

20

Y

s00

5

2,OOO 2,OOO

3,000 1,000

600 400

3,000 2,OOO

as follows :

Cost of machine ({) 24,OOO

6,000

4,000

5,000

32,OOO

4,000

3,000

6,000
The expenses of Service Departments are to

AB
x 2A% 30%

Y 40% 2OV.

Y

10%

)/
V

Secondary distribution summary.

P.T.o.
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10. 31 dcauor 2018 d" d"odd",adgd deera$ oosJeJrid -grrd uoC; erooaCnm do-,iol
sDqJ { 74,500 ood; dodtzooDd. eidde ude udQd dfi o-ocel<ulQ saz,Jd < 88,460

aod; dneDtd. add.,a dl{drld dD3ee-rdofu d$dod oa{;roodd$d.: a&dor{dGtud.,"t

deaa:odc dddrldq adhtudcd er6-ooi d0rl < 10,000

DDdo6' uQ deoao-: da{drldQ qBPr" d.laBdod;d: < 250

drnooua doe$zJrl9; dtj da{drideJ dBd; dJ-oo-r doBd"rooBd-l$do { 1550

dear-od.r $ddrideJ ddd€ driDd;d:d-r < 5600

dtj d,rddddg idd", drlDd;{;d; { 6000

udfd d;eej{ddr erQd dJ-,oer.: d.roBd"raoBd;$il < 850

deeao$ o-d$ejrieJg ddoJcdod; dS ooa:Old.:fld; < 2800

drJ o-oaleiridQ doBdrlqJ d:eej uQ deDtugadod:d.) { 2000
zjmG

dearoi: od$eJrldg u!ry$ dnooocJd ({Be,f) < 24O

croxgd; Jdd€os:oemd d-S deao-oio do$eJrieJq ddC-r oaSd;d;d: < 3350

d,.,aocrddd ded donDDtu.

The net profits of a manufacturing company appeared at ( 74,500 as per
financial accounts for the year ended 31st March 2018. The cost books,
however, revealed a net profit of { 88,460 for the same period. A careful
scrutiny of the figurcs lrom both the sets of accounts revealed the following
facts :

lncome tax provided in financial books < 10,000

Bank interest credited in financia-l books < 250
Works overheads under recovered in cost books < 1550

Depreciation charged in financial books { 5600
Depreciation recovered in cost books ( 6000
Administrative overheads over recovered { 850
Loss due to obsolescencc in financial accounts t 2800
interest on investments not included in cost accounts < 2000

Stores adjustment (credited in financial books) < 24O

Loss due to depreciation in stock values charged in financial accounts
< 3350
Prepare Reconciliation Statement.

-oOo'
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